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03 Al& =2 ChH] 1,200 1,200 0
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02 2324l 2,770 2,770 0
OFOLI2IZE RN 2tel 2,640
OZOLI2IZE HAHI 130
JHMH =X =2 A 11,300 12,800 A 1,500
201 ZEt2FH| 9,800 11,300 21,500
01 AtR2tel 5,000 2,500 2,500
O&H o == Xt 21T M & 5,000
02 2324l 2,800 6,800 24,000
OdHAZE2 AIEEHl |2l 1,000
Ofg2 RUIHIAAE FX 2l 1,800
03 S At2 G| 2,000 2,000 0
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AT MEISX
A HAH2AAHI (A SR

eel: = CCRE!
_ _ _ N E
SA-E . S(E) - MEAY - BES 01l &4 24 e HIRE
ORAN=2Z Jl1=3Hl 300,000& = 123 3,600
OMREE FL(SAX S) 200,000& * 12& 2,400
OHEANRII 42E 2

300,000& = 10CH = 22l 6,000
(OF=3={| 7,000 = 178 « 72 » 128 9,99

02 32244 1,800 1,800 0
ORER= 150,000& 128 1,800

202 o4 Hl 1,360 3,200 1,840

01 SLHAObI 1,360 3,200 A 1,840
Otla22 2o 1,360

203 ¥Rl 4,200 4,200 0

04 FEAZEZRFAH 4,200 4,200 0
ORM2IYE=LH 350,000& = 123 4,200

HREs (At S X1 150,000 724,756 A5T74,756

LHEAHHXI & 150,000 724,756 A574,756

HEHHRI= 150,000 724,756 AD574,756

RIIsdES 150,000 150,000 0

01 JI=dE= 150,000 150,000 0
OkoI=x)I2 BES 50,000
OdYEIIS dEZ 50,000
OBONQI=XIIZ BED 50,000
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